KETTLER

Rivo 5

MepeyeHb KOMNNEKTYOLLNX

N° OnucaHue Cneuundmkauns Kon-Bo N° OnucaHue Cneuundumkaumusa Kon-Bo
1 TPEHVPOBOYHbI KOMMbIOTEP 1 82 LLlan6a BonHoBas d20.5xD30x0.3T 1
2 [atuuk nynbca 2 83 [MogLmnnHmK 6004-2RS 2
3 [epxarent gaynka nynsca 2 84 Pama ocHoBHas 1
4 Konbuo 2 85 Kabenb curHanbHbiit 1
5 Onnetka nopy4Hs 2 86 KpoHLuTeinH PP+TPE 1
6 Camopes ST3.5x16 4 87 BuHT M5xP0.8x12 4
7 MopyyeHb 1 88 BonT wecturpaHHbii M6xP1.0x16 4
8 CroliKa NopyYHs 1 89 LLkns PAG6 1
9 Camopes ST2.9x8 4 90 Ocb LWKKBa 1
10 3arnyLika nopyyHs 3agHss 2 91 PemeHb NprBOAHOM 1
1 3BarnyLka nopyyHs nepegHss 2 92 Lain6a npyxuHHas D6.1x1.6T 4
12 MopyyeHb BEpXHUI neBblit 2 93 [alika camMOKOHTpsILLAs M6xP1.0 4
13 Onnetka nopyyHs 2 94 Camopes ST3.5x6 1
14 BonT ¢ BHYTHEHHUM LIECTUIPaHHUKOM MB8xP1.25x20 2 95 JNorotun 1
15 Larba d8xD16x2T 22 96 Koxyx fiekopaTunBHbli Npasblit ABS 1
16 Brynka 2 97 Maney ABS 4
17 Brynka PAG+MoS2 6 98 Maney, ABS 3
18 B0oNT C BHYTHEHHUM LIECTUITPaHHUKOM M8xP1.25x20L 16 99 [alka pnaHuesas M10xP1.25x10T 2
19 LLla6a BonHucTas d19.5xD25x0.3T 2 100 Mepans npasas PP 1
20 Ocb D19x400L 1 101 Onopa neganv npasas 1
21 Onopa gepxarens 6yTbinok 1 102 CepBonpvBof, 1
22 BuHT M5xP0.8x14 2 103 Camopes ST4.2x16L 10
23 MopyyeHb BepxHUi Npasblit 1 104 OcHoBaHWe MarHuTa 1
24 MopyyeHb HUXHWI 2 105 Kabenb cvrHanbHbli 1
25 KpblLKa NOPYYHS HAXHEro nesas PP 2 106 Bnok nutanus 1
26 BonT ¢ BHYTHEHHUM LIECTUIPaHHUKOM M10xP1.5x20 4 107 3arnyLka 3afHei onopbl 2
27 LLlain6a cTonopHas d13.8xD16.8x1T 4 108 Onopa 3agHas 1
28 Lllan6a BonHoBas d15.5xD21x0.3T 4 109 BonT wecturpaHHbii MB8xP1.25x20 2
29 Ocb NOPYYHS HUXHETO D15xd10x46 2 110 Lainba d8xD22x2T 2
30 MopwmnnHmk 6002-2Z 4 M Brynka d17xD22x22 2
31 BuHT M4x8 4 12 Kabenb fnaryuka nynoca 2
32 BoNT ¢ BHYTHEHHUM LIECTUITPaHHUKOM M8xP1,5x45 4 113 Kabenb curHanbHbli BEPXHWM 1
33 KpbiLLka Nopy4YHs HUXHEro npasas 2 114 Kabenb cvrHanbHbli cpefHmi 1
34 3Barnywka nesas 1 115 [Lepxatenb GyTbinok ABS 1
35 Camopes ST4.8x16 8 16 Haknapgka gepxarens 6yTbinok 1
36 Onopa nepegHss 1 17 CTpona snactuyHas 1
37 3arnyuwka npasas 1 18 Knioy TopueBoit 13-14 1
38 BonT WwecTurpaHHbli MB8xP1.25x55 1 19 Kntoy wecTturpaHHbilii 6 MM 2
39 MarHuT B c6ope 1 120 Kntoy wecturpanHbiii 5mMm 2
40 LLlain6a d8xD19x2T 1
41 [aiika caMOKOHTpSLLASA M8 1
42 BonT wecTurpanHbiit M6xP1.0x35 1
43 lavika M6xP1.0 2
44 MpyxuHa D12xd1.2 37N 1
45 Maika 3/8"26x3.8T 4
PAGS,

46 | Brynka DI0XD15.8x6mm !
47 Ocb MaxoBuka 3/8"-26x123L 1
48 MoaWwmnnHmuK 6300-2RS 1
49 MaxoBuk D280x32W; 9KG 1
50 [MoaWwunHuK 6000-2RS 1

51 [alika chnaHuesas 3/8"26xX7T 2
52 BuHT M5x12 4
53 MpyxuHa D20xd4 12N 1
54 Brynka pesbboBas D14.4x30 1
55 BonT ¢ BHYTHEHHUM LIECTUIPaHHWUKOM M6xP1.0x75 1
56 Lllai6a BonHoBas d10.2xD13x0.3T 1
57 Llai6a d6.5xD13x2T 1
58 BONT ¢ BHYTHEHHUM LIECTUIPAHHUKOM M6xP1.0 1
59 [MoaWwunHuk 6000 277 2
60 Ponuk HatsxHom 1

61 B0oNT € BHYTHEHHUM LIECTUTPAHHUKOM M8x20 1
62 KpoHLWTenH ponvika HaTskHOro 1
63 Larba d8.56xD25x2T 1
64 [aiika caMOKOHTpsLLasA M8 1
65 Haknagka neganu TPE 2
66 Bont ¢ kBagparHbIM NOArONOBHUKOM M8xP1.25x55 4
67 [MNepnans nesas 1
68 Onopa neganu nesas 1
69 Pykositka 4
70 3arnyLka 2

71 LLlan6a cTonopHas D43.5xd37.3x1.5T 2
72 MoAwmnnHuK 2203-2RS 2
73 3arnywka ABS 2

74 [unck Bpalyaomiics ABS 2
75 KpecToBrHa 2
76 Llain6a d4.5xD16x1.5T 8
77 Camopes ST3.9x16 8
78 Koxyx AekopaTnBHblIli NeBbli ABS 1
79 Kabenb nutaHus 1
80 LLlain6a npocTaBoyHas d18.5xD22.5x1T 2

81 LLlain6a d20.3xD30x0.5T 1




Rivo 5

MopeTanbHasa cxema TpéHaxepa




